== A
N = 0] &F AF S & AN A
20228 = 20l A LBt H A2 A=
A HdZH=H
HIH: WHO HAA ST Al JIEXH
Sl AUCA HE N U 29 (S &2)
L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
A2 H =0 22,855,566 17,167,094 5,688,472
Dl 728,874
= 115,281
Al 22,011,411
WHO ZH2A Al JIEXH 662,510 684,426 N21,916
J| 160,000
Al 502,510
ALTA HAH g ¥ 29H 116,410 214,070 A 97,660
WHO HUAE Al =& 16,410 97,970 A 81,560
201 et 9| 10,650 10,650 0
01 AP 2t 2] H| 7,850 7,850 0
OHLEA S22 22 HZE 55,0008 «10H 550
OAHLTAl 28 - AZXSE &I SSH|
100,000& *3Y x4 3| 1,200
OAHLEZA 222 HEH 10,000 4004 4,000
OALTA T2 BH2g
70,000& 15 x23| 2,100
02 232%H4| 2,800 2,800 0
OWHO AMEHE LXAHLTZAIHAY AF H|
800,000 13| 800
OUstAU=2AHLZAIE21F AHFIH|
2,000,000 13| 2,000
202 o4l 5,760 4,320 1,440
01 2L I 5,760 4,320 1,440
OHLEA ER2F& Yl 480,000 x12& 5,760
RAFAID HA2HE 80,000 80,000 0]
201 et | 80,000 80,000 0
03 A2 Y| 80,000 80,000 0]
O3 F=AC HAU2AHE 80,000,000 x 14! 80,000
S FAIL H2Z=EAH 20,000 20,000 0
307 2Iz2t0| A 20,000 20,000 0
04 SIZ2HSHAAISHE E & 20,000 20,000 0
02022 & FAl2 A2=H 20,000,000 14! 20,000
nz2s3 g4 200,000 183,000 17,000
T2s3? 28I 8AXN&A 130,000 113,000 17,000
307 2iz2tol & 130,000 113,000 17,000
04 SIZ2SHAAIH E & 130,000 113,000 17,000
OZzs3 EHI| #HAMIH
130,000,000 =14l 130,000
T2z HIAHAZEAN LSLSHAKE 70,000 70,000 0
201 gBt2dd| 70,000 70,000 0




AN AZHSD
S WHO A2 & Al JIExE
ool IRs7 S4 EERED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
03 A2 Z Hl 70,000 70,000 0
OZ2s HIHZBEE SAMNE
70,000,000& =14 70,000
ANBIALSE 346,100 287,356 58,744
| 160,000
Al 186,100
AL AIALE =& 146,100 100,000 46,100
201 Let249y| 30,000 0 30,000
01 At 224l 30,000 0 30,000
OETS 2FAB HLHME B
30,000,000& =14 30,000
307 21201 A 116,100 100,000 16,100
02 IS AHEL 116,100 100,000 16,100
OXsd AZ2el Al XA
100,000, 000 14 100,000
OAHLZA S2AY =& 16,100, 000& 14! 16,100
Z0XE100 BFMAUASHEH X 200,000 187,356 12,644
| 160,000
Al 40,000
101 14 Hl 165,460 150,639 14,821
| 125,719
Al 39,741
04 JIZHHZ22XREES 165,460 150,639 14,821
OHZ2SHLA 96,858
>olEs 2,952, 125& x2H 123 70,851
| 59,042
Al 11,809
DA E = 935,000& x12& 11,220
| 11,220
DAIZt? 2 222" 3,729,000& *14] 3,729
| 2,373
Al 1,356
> AX =G 113,000& »2H 10 2,260
(SRS 8,798,000 » 14! 8,798
OMEZZA 61,802
>ll=gs 1,881,000 x2H x12& 45,144
| 37,620
Al 7,524
DAEE 596,000& »12& 7,152
| 7,152
DA & SL22=E 2,376,000& *14] 2,376
J| 1,512
Al 864
> AX=E 72,0003 x2H 10 1,440
>EXZ 5,690,000& x 14! 5,690




AN AZHSD
M WHO A2 E Al JIEXH
CHelr AAA S (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
O=&0H 4,800,000& =14 4,800
J| 4,800
Oul=l 2,000,000 » 14! 2,000
J| 2,000
201 £B-2dH| 34,540 36,717 A2, 177
J| 34,281
Al 259
01 At 22l 31,481 34,217 N2,736
OMgelsdEH =&l 26,280,500 » 14! 26,281
J| 26,281
OdH ZHl Xz 1,600, 000& 14 1,600
J| 1,600
OEFAMHIA Xt A= 3,600,000 » 14! 3,600
J| 3,600
02 2324l 3,059 2,500 559
Odstes ¥ B8 3,059,000 »14! 3,059
J| 2,800
Al 259
AN =E43 6,547,571 5,551,875 995,696
J| 568,874
= 105,281
Al 5,873,416
HE2H=ESH 4,202,533 4,085,162 117,371
A¥2sIINR =41 1,580,323 1,498,164 82,159
301 LA F 1,539,323 1,498,164 41,159
Vo=t - 2SESE2H3 1,539,323 1,498,164 41,159
OMRE %4 U ARY 2% 22|
6,000,000& 14 6,000
OagE (g4, 24, 945) =4 22| 15,000
DEIRSB 80,0003 100 & +12& 960
Daot=ER=a 20,0003 10 2 +128 240
> 2 el 200,000& *3MH A +123 7,200
> S Al DA 100, 000& 34 2+ 12& 3,600
DOIHY, S&AMSHl 50,0002 *3M A x12& 1,800
PR 100,000 * 1CH 100
DEIMNERES 100, 0002 = 1CH 100
PEER(SEEE) 1,000, 000% =1 CH 1,000
Oa g =Xl 3,000,000& =14 3,000
O&gE8 XNE X el 407,189
>PIIe22(20, 638 16558 &)
3,605, 1002 6 H «12& 259,568
>PEZE 3,605, 100& *6Z *23| x50/ 100 21,631
> HE S| 3,605, 100 69 *23| x60/ 100 25,957
P - 350,000 x6H «12& 25,200




2N
X ZH -
L= B

el

A2 =S
AN E&d st
dE2Ms=sd

SA - BB B () - MM - BES Ol &t o San HmEET
> == 50,000 x6H » 122 3,600
=]l 250,000 x6H 128 18,000
DEs2tels=Y 100,000& x6H x12& 7,200
DOHEY 80,0003 x6H 128 5,760
el A= = 366,916,000% *4.5/100 16,512
PALEE =S 366,916,000 *3.43/100 12,586
PEIQAEER 12,586,000& *11.52/100 1,450
PUEEBEE 366,916,000& *1.65/100 6,055
DAMTHEEZ 366,916,000 *1/100 3,670

OagE d= JHl 80,000,000 =14l 80,000
O&gE d== Q1] 763,429
DIlEa2(20, 738 988 &Y)
2,680,400& x15H x12& 482,472
PEZH 2,680,400% *15% «2& x50/100 40,206
> HE S| 2,680,400 152 «2& 60/ 100 48,248
Pedsd 350,000& *15H «x12& 63,000
> ==l 50,0003 x15H 128 9,000
> = Al 250,000& x15H x12& 45,000
>IRABH=RES 687,926,000& *4.5/100 30,957
PALBEZ 687,926,000& *3.43/100 23,596
DEIRYBER 23,596,000& *11.52/100 2,719
PINEBEEZ 687,926,000& *1.65/100 11,351
DAMATNEE = 687,926,000& *1/100 6,880
O2JIHE =% 400,000 x3H 128 14,400
Ols sdH(2L, |4, =24)
80,0003 *21H x5 «53| 42,000
OXXNEEHH(DE, &, 24)
80,0003 *21F 10 *23] 33,600
OMEEZ(AE, |4, 54)
60,0003 x21H x12& 15,120
O3Utsa =43 15,000, 000& * 14! 15,000
O=HUz Z&3 15,000, 000& 14! 15,000
OadgE dat 243ZHl 150,000 +«35 =128 5,400
Oagg 8t AZXZZH|
100,000& x3Z =+ 12& 3,600
Oagddg Haly| 7,750
DEIATATHW ASIH 2,750,000 x 14! 2,750
DEIAAFAAW ASIH 3,000,000 x14! 3,000
DetAASAHAN ASIH 2,000,000 x14! 2,000
Oage U=t 52,780
>c= 250,000& 21 +23| 10,500
Deds 200,000& x21¥ x23| 8,400
>&I= 200,000& x15H #23| 6,000




SN ASHSD
H: ANOXHESEHS
Sel: MRS S CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
>T-M= 65,000& *x21H 23| 2,730
> gtst s 250,000 »21H *13] 5,250
>ZAIsH(=A) 200,000& *5H 23| 2,000
>AISHIEE) 200,000& x5 x23| 2,000
>AIOIASH (S A 300, 000& x5H x23| 3,000
>eld st 200,000& x21H *23] 8,400
> EHOI = 150, 000& *15H 23| 4,500
Oz =&Y 2 18,500
DEESE 1,500, 000& *2H 3,000
> C o 1,000,000& *10x& 10,000
>HIE R E 500,000& =24 1,000
>DESH 150,000 x5 x23| 1,500
DIRH(SEIR) 200,000 *2 L x53| 2,000
DY E 200,000 x5 1,000
O 28 EH 2L 7,095
>2dBE 200,000& *5H 23| 2,000
>0OlE 100,000& *4 &= %23| 800
> ol =010 150, 000& *50H 23] 1,500
DOISA OA 15,000& *x15JH x33] 675
DYAESH 20,000& x50 *23] 200
> & 8,000& 200 12& 1,920
OMEds E8HH 7Y 4,460
DYEAIHE 150, 000& *5JH 750
>DEEX 50, 000& *3H 150
DOHOHZAE 300, 000& *3H 900
>&E=2 40,000& *5H 200
DIIFAAE 80,000& =24 160
>ol= 350, 000& =44 1,400
>AEIEHE=H 300, 000& *3H 900
Ooagd g&a=2 6,000,000& x5H 30,000
405 XH&HF S HI 41,000 0 41,000
01 JHAtY 2 E F S H 41,000 0 41,000
ozesxzy nH(=egssg) 41,000,000 = 1CH 41,000
Z2ATUXEUHS X 260,000 260,000 0
307 212t0| & 260,000 260,000 0
04 QI2tSH AFAFS B X 260,000 260,000 0
OHM5738 Z2JAZM=UE A
260,000,000& * 14! 260,000
HEXHN=E SHXNA 2,362,210 2,286,998 75,212
201 Bt A H| 30,000 30,000 0
01 At 22| 30,000 30,000 0




AN AZHSD
M AN MsEdst
g4 dEHEsd (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ&FC &7 &1l 30,000,000& =14 30,000
307 21201 A 1,120,118 1,085,945 34,173
02 YAFAANHEX 652,209 645,000 7,209
OdzH=s g4ds XA 250,000,000& =14 250,000
OdZHMESNEXN 2 402,209,000 » 14! 402,209
03 QI HE 22X 467,909 440,945 26,964
OM=3AIR= el 401,909,000& =14 401,909
OM=E3AR= 29l 66,000,000 * 14! 66,000
308 XXM SO A 1,212,092 1,171,053 41,039
08 WEII20HStE = 1,212,092 1,171,053 41,039
Ox. .58l dszgds AN (ns3Hl)
231,080,000 » 14! 231,080
Ox-38l MEXNZA N (ns2H)
981,012,000 » 14! 981,012
HEHSSY 1,805,263 1,113,244 692,019
J| 539,233
< 105,281
Al 1,160,749
2T MESSEA iz & 2N 10,940 11,540 A 600
201 €24l 1,100 1,100 0
01 At 22l 1,100 1,100 0
O M=z R34 22W M=
55,000& x20H 1,100
202 O4dl 8,640 8,640 0
01 = LH 4 Hi 8,640 8,640 0
OMsSEAL RF=& Ol 720,000& x12& 8,640
301 LBEXS 1,200 1,800 A 600
09 HALAHIXI &3 1,200 1,800 A 600
OMEMESXEAH s 0l
50,0003 *4H 3 x23| 1,200
ZREEXAD & &9 e JX 60,000 50,000 10,000
307 glz2tol & 60,000 50,000 10,000
04 QIZFHALALH 2 = 60,000 50,000 10,000
OZREEXAI & S FX
60,000,000& =14l 60,000
AFAMEI(H) SSE Ul Nz 130,000 130,000 0
307 gl2tol & 130,000 130,000 0
04 DIZHHALALSE E X 130,000 130,000 0
02022 AF=AIEII(HH) =SS U3 N
130,000, 000& 14 130,000
A OZ2AAME MU H 30,000 20,000 10,000




AN AZHSD
M AN MsEdst
ool MERSSY CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 30,000 20,000 10,000
04 DI2HHALALSE E X 30,000 20,000 10,000
02022 FF=Al 2L AZ H=sCHE iz
30,000,000& =14 30,000
2RATUAENSUHE 28 108,000 0 108,000
307 21201 A 108,000 0 108,000
04 DIZHHALALSE E X 108,000 0 108,000
OHM30sl MM sUH =8
108,000, 000& 14 108,000
ZEE M2 MEMNSUHS =28 30,000 28,500 1,500
307 21201 A 30,000 28,500 1,500
04 QIZFHALAIH B = 30,000 28,500 1,500
OM173 23T HEAN MAUSUHE =A
30,000,000 =14l 30,000
24 sl &8 X2 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
ooz e A 15,000, 000& * 14 15,000
ZESXADI(B) S & E3&IIUE &8 XS 77,000 77,000 0
307 21201 A 77,000 77,000 0
04 DIZHHALALSE E X 77,000 77,000 0
OZ2SXIADI(HH) Thal & E3&EIIUE &8
77,000,000& » 14! 77,000
Dssw Hg dMsal oH= 117,000 117,000 0
307 21201 A 117,000 117,000 0
04 QIZFHALAIH B = 117,000 117,000 0
02022 nsstw HE MsUsl N
117,000, 0002 * 14! 117,000
FFAEH d=HUAME A 40,000 30,000 10,000
307 glz2+ol & 40,000 30,000 10,000
04 QIZFHALAIH E = 40,000 30,000 10,000
OXM162l A &=EILIANZ JHEF
40,000,000& =14 40,000
XA d=2=70U2 K= 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000
04 QIZFHALAIH 2 = 40,000 30,000 10,000
OHM13al FFXttl 8==7203 Nzl
40,000,000& =14 40,000
FFEXA 8= =50 BHAZME Wz 30,000 25,000 5,000




2AN: 2 M=
M NOIHSE S
ool MERSSY CER-ED
= - 4 14
NS - o9 (3H) - MEAY - B gﬁ‘&i HR=2
307 2Iz2to| & 30,000 25,000 5,000
04 SIZ2ISHAAIH E & 30,000 25,000 5,000
02022 & =Xl D EHEZ=CHS OH
ES| 30,000,000& = 14! 30,000
FX U 2RE SEHZ2 S OHE 20,000 10,000 10,000
= 10,000
Al 10,000
307 212t0| & 20,000 10,000 10,000
& 10,000
Al 10,000
04 SIZ2HSHAALSH E & 20,000 10,000 10,000
02022 & =Xl 2 HEHZ=UE R
20,000,000& = 14! 20,000
== 10,000
Al 10,000
SdH=Es N 3,200 3,200 0
307 212t0| ™ 3,200 3,200 0
04 SIZ2SHAAISHE E X 3,200 3,200 0
O&M=&gs X 3,200,000& » 14! 3,200
SFAEH AEUHE M= 40,000 0 40,000
307 2Iz2to| A 40,000 0 40,000
04 SIZ2SHAAISH E & 40,000 0 40,000
02022 |F=Al&H N3l 4=
40,000,000 =14l 40,000
NAUHEHE SAIE B4 X 7,000 7,000 0
307 212t0| & 7,000 7,000 0]
02 DIZEB AAIE E X 7,000 7,000 0
OXASHZ S A &
7,000,000 =14l 7,000
SFFAIEU =2 ER2UE HA 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
04 CIZ2tSHALALSE B X 30,000 0 30,000
02022 A=Al &HH SRS =
30,000,000 x 14! 30,000
FX| A M= HIS 40,000 0 40,000
= 20,000
Al 20,000
307 QI2t0| ™ 40,000 0 40,000
= 20,000
Al 20,000
04 CIZ2tSHAPALS B X 40,000 0 40,000




A HdZH=H
M AQHSEAS
chel: MEHSSY (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
02022 =X AHHl 8= HISUH=H JHE
40,000,000 =14l 40,000
= 20,000
Al 20,000
Z2REHMSIHEI) HESEM=UE 28 XA 20,000 0 20,000
307 2Iz2t0| & 20,000 0 20,000
04 SIZ2SHAAISH E & 20,000 0 20,000
OHM1gl 2T HEIH) HLA=SsHEUHa =
| 20,000,000& = 14! 20,000
MEBHNSKNESA s A (2H]) 29,796 29,232 564
J| 14,898
Al 14,898
307 2I2t0| ™ 29,796 29,232 564
J| 14,898
Al 14,898
02 IZHEAAIE E X 29,796 29,232 564
OME XN &8s I
2,483,000 x1H x12& 29,796
J| 14,898
Al 14,898
MEYWEXNZA s NS 8,176 7,199 977
307 212t0| & 8,176 7,199 977
02 AI2tAMAIE E =X 8,176 7,199 977
OQMEHE UBIXI SR BIXIAIY =&
8,176,000 1Al 8,176
24 HESEs=s XK (24]) 89,392 87,696 1,696
J| 44 696
Al 44 696
307 QI2t0| ™ 89,392 87,696 1,696
J| 44 696
Al 44 696
02 QI2tAAMAIE E =X 89,392 87,696 1,696
OEd H=s2s KNE 2,483, 1113 +x3H«12& 89,392
J| 44 696
Al 44 696
HEd dHsgds I3 24,559 21,597 2,962
307 212t0| & 24,559 21,597 2,962
02 DI AAIE E X 24,559 21,597 2,962
OMEIH= HENK A BHXIAY =2
24 ,559,000& x 14! 24,559
AZX2L 0l2H XK 405,450 288,880 116,570
J| 283,814
o=} 60,818
Al 60,818




2N
X ZH -
L= B

el

0z = ¥
g 1S 0y

o =

0x 0x
tor

10 30 30
H0 e K

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 LEHZ 405,450 288,880 116,570
J| 283,814
< 60,818
Al 60,818
01 MEI2EZE %06z 405,450 288,880 116,570
OAZ =25 0l8A XI& 405,450,000 » 14 405,450
J| 283,814
= 60,818
Al 60,818
ZOHQ AEXZ=2H ol2d N2 29,750 22,400 7,350
J| 20,825
< 4,463
Al 4,462
301 LA S 29,750 22,400 7,350
J| 20,825
< 4,463
Al 4,462
01 MEIBEE 253 29,750 22,400 7,350
O AZ=2L 0/EA XA
29,750,000 » 14! 29,750
J| 20,825
< 4,463
Al 4,462
MEHNsWY 29 20,000 20,000 0
< 10,000
Al 10,000
307 glz2+ol & 20,000 20,000 0
< 10,000
Al 10,000
02 HAFHAANEEE 20,000 20,000 0
OdaNsus 299 20,000,000& =14 20,000
< 10,000
Al 10,000
JtAEA AXXA BZAY 350,000 0 350,000
J| 175,000
Al 175,000
308 XtXIEHHSOIA 350,000 0 350,000
J| 175,000
Al 175,000
08 WSEII20HetE = 350,000 0 350,000
OJMSA AZIM SZAY(NSHL])
350,000,000& =14 350,000
J| 175,000
Al 175,000
Fohe Mssd 539,775 353,469 186,306
J| 29,641
Al 510,134




AN AZHSD
M ANHE24s

el ZH MESs4 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
0 M=2s XN& 85,000 70,000 15,000
307 gl2tol & 85,000 70,000 15,000
02 It M AHE L 85,000 70,000 15,000
OFMeN=s&askA 55,000,000& » 14l 55,000
OFMfeMsZz 8 (ZE2N4A) 2L
30,000,000 » 14l 30,000
ZACEe MEH=SUHE = 42,000 42,000 0
307 glz2tol & 42,000 42,000 0
04 QIZFHALAIH E = 42,000 42,000 0
OHM15a LA HMQ MEMIUHE =&
42,000,000& =14 42,000
ZOofel A= @A I E 30,000 28,000 2,000
307 gl2tol & 30,000 28,000 2,000
04 DIZHHALALSE E X 30,000 28,000 2,000
OB AZ=x HAF OHE 30,000,000 14! 30,000
ZOHR M=03 sdX& 20,000 19,000 1,000
307 glz2+ol & 20,000 19,000 1,000
04 QIZFHALAIH 2 = 20,000 19,000 1,000
OHM HM=ds 538 8 XN&
20,000,000 =14l 20,000
UM =3 X& 133,517 121,607 11,910
307 gl2tol & 133,517 121,607 11,910
03 BIAHNHE2IHIEL 133,517 121,607 11,910
OZOMAME2 AFR= I2AH]
113,517,000& 14 113,517
OZOMAME2 AHR= 29I
20,000,000& =14 20,000
HOHIMENE NEX &85 X (=) 59,282 58,464 818
J| 29,641
Al 29,641
307 21201 A 59,282 58,464 818
J| 29,641
Al 29,641
02 It S AHE L 59,282 58,464 818
OFMHMEXNEXNECA 85 XA
59,282,000& x 14! 59,282
J| 29,641
Al 29,641
oo MEXNSXNEA s X3 16,331 14,398 1,933
307 21201 A 16,331 14,398 1,933
02 QItFAAHE X 16,331 14,398 1,933




2N

X{ XH -
S =

CHe JqOHOI X1|° o (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXMNUMSRNE X BIXIAIY ¢
16,331,000 = 1Al 16,331
ZHOIII=MENSAHE A EFHA 2 K& 153,645 0 153,645
402 BI2H X 20| M 153,645 0 153,645
01 SIZEXIEANSE X (M) 153,645 0 153,645
OO0t MEANSAHEHEA EE3HA 2
153,645,000& x 14! 153,645
HSANEEHS 9,385,520 218,160 5,167,360
o=t 10,000
Al 9,375,520
SZHSALES 8,800,000 2,000,000 6,800,000
FF G 0L HY 3,000,000 0 3,000,000
401 Al HI L £ 0HHI 3,000,000 0 3,000,000
01 Al& H| 3,000,000 0 3,000,000
Od=F gd9 Z20NFHE HE
3,000,000,000& « 1Al 3,000,000
EZ§HE2 BEZZ[0] T2=RE =4 A =5 800,000 0 800,000
401 AlEHIZL £ 0HY| 800,000 0 800,000
01 Al&EH| 800,000 0 800,000
ZEHES2 BER0 E2s1H =AHE =
= 800,000,000 « 1Al 800,000
s2H HSAE X4 5,000,000 0 5,000,000
401 AlEHIZL 2 0HY| 5,000,000 0 5,000,000
01 Al&H| 5,000,000 0 5,000,000
Ossd HsAE =4 5,000,000, 000& 1Al 5,000,000
METSANEE= 321,800 1,954,440 AN 1,632,640
& 10,000
Al 311,800
StNEX 22 MEHSFAE A 151,080 100,720 50,360
401 AlEHIZ 2 0HY| 151,080 100,720 50,360
01 Al&EH| 150,000 100,000 50,000
Ostnex 82 MEMSAE X (sdd)
150,000,000 =14l 150,000
03 AlE 21| 1,080 720 360
OAIE 20l 1,080, 000& x 14! 1,080
HOIEEE &AX ¥ |SA22 150,720 150,720 0]
401 Al HI L 2 0HHI 150,720 150,720 0
01 Al& H| 150,000 150,000 0
OHOIEEH® X ¥ 2= 150,000,000 1A 150,000
03 AlE 21| 720 720 0




2N AIHF Y
I MSANL=

-
el MEASALES

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OAI& 20| 720,000 =14l 720
UM aa=sTa MCATH & 8A 8XZ2A 20,000 0 20,000
& 10,000
Al 10,000
401 AlEHIZL 2 0HY| 20,000 0 20,000
& 10,000
Al 10,000
01 Al& B 20,000 0 20,000
OSYAMIABEI NCIAT L #A SXIA
20,000,000 x 1Al 20,000
= 10,000
Al 10,000
SHHMSANEE= 263,720 263,720 0
SUHHMSAIE &X £ S22 263,720 263,720 0
201 LBt ]| 63,000 63,000 0
01 AP 22| H| 13,000 13,000 0
OSUMEAIE 2212 £=2H|
13,000,000 « 1Al 13,000
02 2=2=24%4| 50,000 50,000 0
OSsUHMEANE 2222 50,000, 000& = 14! 50,000
401 Al HI L £ 0HHI 200,720 200,720 0
01 Al& H| 200,000 200,000 0]
OsUMsSAIE &X € B
200,000,000 1Al 200,000
03 AlIE 2 HH] 720 720 0
OA&E S0l 720,000 =14l 720
HEAE 2922 6,000,534 5,054,441 946,093
SO 23N FHEEH 22 596,279 393,414 202,865
S22 HSFHE 2922 205,713 192,763 12,950
201 YEt2 Ayl 197,073 187,003 10,070
01 AR 22l ] 43,588 39,788 3,800
OXNEIIEZN EF Y JIUE S
15,000, 000& *3/100*12& 5,400
OgAd 324 HEAHAS 15,000 x12& 180
Oo=Zzly EY 300, 000 =404 1,200
OF& L (LA) 60,0002 1 x118L 7,080
OY&LY(x5H) 60,000 18 +365 21,900
OJIAHAZR X Tl=4| 100,000& x4H x23| 800
oot & 52 22X S|
8,000& 183 x12& 1,728
O&=£J], "4 & ¥x= 5,300,000& x 14! 5,300
02 B32%H| 153,485 147,215 6,270
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Odsot=EAES 700,000& 123 8,400
OJtAHHAMUBEZ 20,000& *13] 20
OXst==0I22E3 100,000& =122 1,200
Ost=2ALEE I (A HA 22|}
60,000& x13] 60
OsUERaMSHE Y L 2 (T AIDEL)
755.9&3 «110m «3A| 2tx310L 77,329
OAMEE H&I1D] KXY 1,500, 000& 14! 1,500
OXNSERXBI(S2AE) 3,416,000& » 14! 3,416
202 odl 8,640 5,760 2,880
01 SLHOYI 8,640 5,760 2,880
OXM=SAE 2 0l 720,000& 123 8,640
SURSMSHEH AMESANE S 190,566 200,651 A 10,085
201 Let249| 146,366 145,051 1,315
01 At 22l 17,119 15,829 1,290
O223 7¢ 3,154,000 » 14! 3,154
OEZIA AEBAE I AM==E
270,000& x 13/ 270
O HIIEAN =25 300,000& =23] 600
OUIIBHEANE(ELH) &AL M2
500,000& »23] 1,000
OAgdHl HEFH U= 300,000& »12& 3,600
OXotE MII4y odze s (=84 2
50kW, &I 115KW) 404,250 123 4,851
Ol FUAEHA =5  150,000& 23| 300
OsZI| etdze HE= 2,644,000 = 1CH 2,644
O&HIILH HEZA =8 700,000 » 14 700
02 2324l 129,247 129,222 25
Odlas &I (115KW) 1,430& %1004 =13l 143
O&s & =2 RNE= 1,000, 0002 14 1,000
OMd== #E& 11,000& *142E »23| 3,124
oggAr=s 440,000& x12& 5,280
O2gd A= 5,000,000& =13l 5,000
O=gz HHlAIE(HI) RXNES
4,500,000& *13] 4,500
OfIM Y E=4(tH& 2 55)
5,000,000& x 14 5,000
O+=g& A EA 1,000,000& »12& 12,000
Oduter RX2el 200,000 »160H 3,200
OdZe, 2EssaZH EH 1,000,000 14 1,000
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Osg2gdaelANrE A+
4,000,000& =14 4,000
OHAIT L £9J|7 RA24
150,000& 208 3,000
O3 2)| #AES 1,000, 000& *2CH 2,000
OANE RANE= 10,000, 000& * 14 10,000
OsEaMISHE EALEY
70,000,000& =14 70,000
206 M= Hl 18,200 18,200 0
01 =4l 18,200 18,200 0
Oxg8% A=AS 850,000& =128 10,200
O&X IlSX L &3t3| 1,000, 000& 14 1,000
OJIEt #Hl &3 7,000,000 14! 7,000
401 Al HIZ 201 I 26,000 25,400 600
01 A& HI 26,000 25,400 600
O=ISHNSHEH AES RAE>
20,000,000& =14l 20,000
OsUERaHSHE A5S FIIAEEFAH
6,000,000 » 14! 6,000
SURSMSHE AEHL 200,000 0 200,000
401 Al HI K 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
O=2EstHSHEH AMEMHLAS
200,000,000 =14 200,000
FTULZZFLHUAZ 22 125,515 123,451 2,064
22 & HUAZE 22 47,939 47,939 0
201 Let24d] 47,939 47,939 0
01 At 22/l 3,948 3,948 0
o223 7g 800,000& » 14! 800
OUBIHICHN BHEY Y +22
40,000,000& *2.97/100 1,188
oot - 5422 Sl 8,000& 103 x12& 960
odldl, d=J gxz 1,000, 000& 14 1,000
02 =224l 43,991 43,991 0
osdlz 45,000 20 128 1,080
OHIIR3 3,400,000& x12& 40,800
OXot==0lERE3 30,000& =122 360
Osgt=Aetd & 3| 60,000& x13] 60
OJIAHEbEl A=l 1, 1743 <60 4 Al 2H+60 1,691
22 L HULE ANERNES 77,576 75,512 2,064
201 L2l 23,436 23,472 A 36
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SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
01 AFR2 22l Yl 10,858 11,018 A 160
OA228 2¢ 1,654,000 * 14! 1,654
OXot2 dMI|I&d otd2el =S (=H8EH| 5
00kW) 407 ,000& x12& 4,884
OAagtdy| otdze s 210,000& 128 2,520
OsLD| HIIZAN =2 100,000& *2CH 200
OZ2d &HHl L= (&L &= 10E)
800, 000& *23| 1,600
02 332494l 12,578 12,454 124
O&dsSE EA 223 *31,0004 *13] 682
OMz+=Zx HA 11,0003 x10E *x23] 220
OJIHEH B&(sXE2 HOUAI 2 65)
1,000,000 * 14! 1,000
oY) XN 100,000& =13CH 1,300
O, ZSHizx, ASI&EH SAE%
2,000,000& * 14 2,000
O FHUASE HIEE A 1,500,000& *x23] 3,000
OsdJ] ot FIAE8A 2,188,000& *2CH 4,376
206 M = Hl 17,040 17,040 0
01 M= bl 17,040 17,040 0
OJIEt #Hl B2 4,500,000 =14] 4,500
oblg & H=H 7,190,000& x 14! 7,190
oue=x¢ 5,350,000& x 14 5,350
401 Al B 2 0HHI 37,100 35,000 2,100
01 A& HI 37,100 35,000 2,100
OFAZH ANEE RIAESE
20,000, 0003 *14] 20,000
OAFTL=ZE HEES JFIIHEE S
3,500,000& * 14 3,500
OsXZel(M==¢g) 340& *20,000m* *23| 13,600
SUMEH AL 22 170,512 166, 160 4,352
TUMETSAYE 22 170,512 166, 160 4,352
101 @124 31,015 27,863 3,152
04 JI2ZtH 22 XNHEE =+ 31,015 27,863 3,152
O2UMENSANE 2l 31,015
= 77,0003 *1H %198 15,246
>DFEsaY 77,000 18 %36 2,772
> a2 2,002,000& x 14 *33] 6,006
> A X 86,590& x 1 9 780
>YEZIHH| 2,002,000 x 1 %40/ 100 801
> &M Z A 140,000& *1H x9& 1,260
DS 2 x| 120,000& *1Z x9& 1,080
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
el = == 27,944,110&*4.5/100 1,258
PALEEZ 27,944, 110& *3.43/100 959
DEIQABER 958,490& *11.52/100 111
PIEEES 27,944, 110& »1.65/100 462
DAMTHEE S 27,944,110& %1/100 280
201 Let24E] 116,297 116,297 0
01 At 22l 7,597 5,997 1,600
o223 2Y 2,997,000& » 14 2,997
OXotE HIIdH ™22 e E (120kw)
150,000& =122 1,800
O0gl0l =0IAE HEEE A=
1,600,000 14 1,600
O&=J Xtz 100,000 x 1+ 123 1,200
02 =224l 108,700 110,300 21,600
OFSPIETE=, 1,000,000& 122 12,000
O&ot=ER3 3,000,000& x12& 36,000
osdz 100,000& =128 1,200
OSUMEHSAE HLEY
28,000,000 » 14! 28,000
O2%S=01Y 2ye 8
30,000,000& =14l 30,000
OYHEMESAIE X 2el 1,500,000 141 1,500
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
OJIEt #Hl &3 3,000,000 » 14l 3,000
401 A& HIZ 2018 20,200 19,000 1,200
01 A& HI 20,200 19,000 1,200
OsAZel(ME=x) 3403 *15,000m" 23] 10,200
OSUMENSANE NS RIS
10,000, 000& * 14 10,000
CEdsetael 716,254 501,017 215,237
cElsa 2322 327,569 158,227 169,342
201 -4 323,969 154,627 169,342
01 At 22l 55,853 30,250 25,603
O e+t 18,480
PARE F¢ 4,100,000& =14 4,100
>ABIEEH LY £42
30,000,000% *3/100% 128 10,800
>OIEotUHE M (RE, 3YMNE &)
3,000,000& » 14l 3,000
DEMIFLOI=E M 2 38F) 200,000 *28] 400
DEAY S HEHFR 15,000& = 12& 180
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Og® = ) 60,0002 x1H » 118 7,080
Oga == ) 60,0003 »1H 3652 21,900
OJI A Il =4l 100,000 »3H 23| 600
OO0F2t, £ SgHl
8,000 «2H«102/ <123 1,920
O&= 370,000& 122 4,440
odidl & 119,400 «12& 1,433
02 =224l 268,116 124,377 143,739
OHIIR3 10,500,000& =128 126,000
Ouot=Ex3 6,000,000& x12& 72,000
OusseREs 2,000,000& =13l 2,000
OH&AIDEE 223 100,000& 10 1,000
OdZ2HId INES =8z 100,000& =123 1,200
OLIReHY AEZE 40,0003+ 123 480
OJtAHHAMUBEZ 50,000& *13] 50
OAgotdE 3| 100, 000& * 13l 100
OcgHsa ¢ & 2 (S AIHA)
755. 9@ «130m *3A| 2t%220L 64,857
O2& 1 (300kw) 1,430& %3004 =13l 429
202 044l 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
OEgH S£=& 04"l 3,600,000 14 3,600
cgds = 388,685 342,790 45,895
201 2Bt Ayl 269,085 234,390 34,695
01 At 2teltl 35,505 15,450 20,055
o223 72g 18,755,000& 14 18,755
OXotE MII4y odze HEs (=84l 6
O0kw/ bl A 2t & I 300kw) 900,000& »12& 10,800
O2g4Hl H¥FE = 400,000& x12& 4,800
OsZJl EIJIEA =2 150, 000& *2CH 300
OSEIAANEANE HIIEE =2
350,000& =13l 350
Oy ZMxE 250,000 »2CH * 13 500
02 2324l 233,580 218,940 14,640
ogdar=s 450,000& 123 5,400
OMd== #E& 11,000& 240 & *23| 5,280
O3XJ128H WA & &2 1,000, 000& =44 4,000
O=gZ ddlzel 10,000, 000& 14! 10,000
OA8Ege & SuEI| M2
3,000,000% »2CH 6,000
Osg2g Al RXE+
14,520, 000& 14! 14,520
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O+gZ+2e N g RA2+
5,000,000& =14l 5,000
OXNg2HANAE RIEL(EEBZ 2 35)
10,000, 000& * 14! 10,000
OXNSHAHAIAEY SXE$ 5,000,000 1Al 5,000
OgAI|I2HEH SAE 300,000& 275 8,100
OCENs §4ag8d 155,000, 000& * 1Al 155,000
Ozl o8 RIS
220,000 »2CH x12& 5,280
206 M = dl 22,600 17,800 4,800
01 X2 bl 22,600 17,800 4,800
O=g9& S&H 200,000& x12& 2,400
Oxd%& =xcls a2 500,000& x12& 6,000
OB H#2H 100,000& = 12& 1,200
OGALMEX A2F 7,000,000& x 14! 7,000
OJIEF #Hl B2 200,000 20 4,000
Oxg&, 82X A24 THZ U]
2,000,000 1Al 2,000
401 AIEHIL 20| 97,000 88,000 9,000
01 A& HI 97,000 88,000 9,000
OANEEZE SXEL(HE, JIH, &I 5)
35,000,000 = 14! 35,000
ONME A HIEMYE B A 7,000,000& * 14! 7,000
O%xdE ERXNE 2=SHX
20,000,000 =14 20,000
OJIAHAEH 2= 10,000,000 » 1Al 10,000
O25 Y=3 At 20,000,000& =14 20,000
OsXZel (M=, 838=H) 5,000,000& x 14 5,000
SEX SR 2 47,925 51,208 N 3,283
s#FHSHRNSY 22l 47,925 51,208 13,283
201 Bt A H| 26,925 31,408 N 4,483
01 AtR 22l bl 7,751 11,962 N4, 211
oags 7Y 1,769,000& 1Al 1,769
OXENE FEFHaE NHUE =5
60,000,000 *2.97/100 1,782
O¢etHE M= 300, 000& 14! 300
OXJtE MI|I&d td2e WS ("2
9kw) 140,000& = 12& 1,680
Oor2t, 52322 2| 8,000& x20 x12& 1,920
O&=zxJ| &dx& 25,0002 *1CH+x12& 300
02 352494l 19,174 19,446 N2T2
odIIe=2 1,400,000& ~12& 16,800
Ox=&R= 150,000& = 12& 1,800
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O&stx Ha 22& x7,0004 *13] 154
(@F=FaN:] 35,000& x12& 420
206 M =8l 4,000 5,800 A 1,800
01 X2 bl 4,000 5,800 A 1,800
OJIEt #Hl B2 2,500,000& x 14 2,500
QU E 1,500,000& * 14 1,500
401 Al HIL 201 17,000 14,000 3,000
01 Al &bl 17,000 14,000 3,000
OAMESHI AEdE SXNES
5,000,000 * 14 5,000
OsX2el (M=, 83&a) 12,000,000 14! 12,000
SAM=E3sE 2 65,914 68,953 A 3,039
HAMTAMESE 22 65,914 68,953 A 3,039
101 @121 31,015 27,863 3,152
04 JI2ZtHZ2E2XNEE S 31,015 27,863 3,152
OQEANZAN=EZ2E 31,015
>olE23 77,0003 *1H x198 15,246
>EELE 77,0008 *1H x36 2,772
>ANS 2,002,000 1 *33| 6,006
> A 86,590& x 1 9 780
> &M ZAlH| 140,000& 1 x9& 1,260
> unE 2 X 120,000& *1H +x9& 1,080
> HEE Y| 2,002,0002 x 12 *40/100 801
>P=OUAZRELE S 27,944 ,110& %4 .5/100 1,258
DAABES 27,944,110 %3.43/100 959
PEIRABEZ 958,490& *11.52/100 111
PNEYEE 27,944,110 *1.65/100 462
DAMEE S 27,944 ,110& *1/100 280
201 LEt2 A Y| 20,999 23,690 N2,691
01 At 22l Yl 4,739 3,710 1,029
OA22E ¢ 1,719,000& * 14 1,719
O°etth 2 H & 300,000& 14! 300
O&I|I&H ArsotA =1
250,000& 23] 500
Oor2t, 522 3 8,000& *x20L 128 1,920
O&=J Xtz 25,000& *1CH*x12& 300
02 33249l 16,260 19,980 N3,720
OdIIe=2 1,200,000& x12& 14,400
(OES=S == 120,000& = 12& 1,440
(@F=F:] 35,000& x12& 420
206 = bl 1,400 1,400 0
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01 24l 1,400 1,400 0
OJIEt &8l &3 1,000, 000& 14 1,000
Od=%, UE 400,000 » 14! 400
401 A& H L 20l 12,500 16,000 ~3,500
01 A& HI 12,500 16,000 A 3,500
OBUZANMSZH AES SN2
7,000,000& =14 7,000
OsXZel(M=, ¥F=Y) 5,500,000 14! 5,500
BH & Xl = &K 2el 147,488 166,013 A 18,525
BHEXMSEHX 23 2tel 147,488 166,013 A 18,525
101 @124 dl 62,024 57,149 4,875
04 JIZHHZ2XREES 62,024 57,149 4,875
OHEMSEEX 22l 62,024
>llEs 77,0003 x2H «198 30,492
PEFE=H 77,000 x2H x36 2 5,544
Dotz 2,002,000& 2% x33| 12,012
DXt 86,590& x2H 92! 1,559
PESILE=Ea | 140,000& »2H +x93 2,520
> uwsS 2 XH| 120,000& 2% «9 & 2,160
> HE S| 2,002,000 x2Z 40/ 100 1,602
D=0=RES 55,888,220% *4.5/100 2,515
PALEE =S 55,888,220 *3.43/100 1,917
DEIQYBER 1,916,970& »11.52/100 221
PONEEE= 55,888,220& *1.65/100 923
DAMTHEEZ 55,888,220% *1/100 559
201 €24l 36,464 35,864 600
01 At 22l 6,264 5,664 600
OA2238 7Y 800, 000& » 14! 800
OXIIE HI|ILHl et zel ez
300,000& »12& 3,600
O&=D 2z 22,0003 ~12& 264
Oozt, 422 2| 8,000 *203!x10& 1,600
02 2324l 30,200 30,200 0
OHIIRS 2,000,000& x12& 24,000
oS4l 100,000& = 12& 1,200
OANEZHEISXHI (Y, SHi=)
5,000,000 » 14l 5,000
206 T2 Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
OJIEt &#Hl 23 5,000,000& x14! 5,000
401 Al HI L 2 THYI 44,000 68,000 A 24,000
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01 Al&H| 44,000 68,000 A 24,000
OHEMEHYX AMNEE RANESE
20,000,000 = 14! 20,000
OEHEMEH X =X 22l 300 *40,000m *23] 24,000
JEFMIS Al & 22l 144 /527 64,143 80,384
JEIMSEAIE 2422 21,600 21,600 0
201 LBt Y| 15,600 15,600 0
02 Z2=2=24%4| 15,600 15,600 0
O&EIIQB(H2SHMSH 2 1JiA)
1,300,000 x12& 15,600
401 AlEHIZL £ 0HY| 6,000 6,000 0
01 Al&H| 6,000 6,000 0
OHIYE2 A=5=2 I EA
6,000,000 =14l 6,000
JEIMEAE RAE2% 42,543 42 543 0
201 B9 8,043 8,043 0
01 AP 22| H| 3,960 3,960 0
O XJte EI|4yl etEze HaE=2
(=M™ 4&H|l 63kW) 150,000& »12& 1,800
QU= AdtMHY tNMEH =
180,000& 12& 2,160
02 E2=2=2%H| 4,083 4,083 0
Ost=2AotME sl (Aot M 22| AH)
55,000& *13] 55
OM 2%, A& SN2
2,790,000 =14l 2,790
OXgIX HA(HSHSH) 18R%23,2504 *13 419
ONMEX HA(HSHSH)
11,000 x37 . 2= x23| 819
206 M = dl 2,000 2,000 0
01 X2 HI 2,000 2,000 0
OJ|Et #Hl &3 2,000,000 =14l 2,000
401 Al HI L 204 HI 32,500 32,500 0
01 Al&H| 32,500 32,500 0
OJIEIMEANE ANES SANES
30,000,000& = 14! 30,000
O=2F A2 FIIATEY
2,500,000 =14l 2,500
A2 S0 EE 29 22 80,384 0 80,384
201 et | 40,200 0 40,200
01 AP 2t 2] H| 5,400 0 5,400
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400,000 6 & 2,400
Oagtdyl tMEHEES 250,000 x6& 1,500
Osd)| et X2 250,000 6 & 1,500
02 E2=2=2%H| 34,800 34,800
O&EIIR2 5,000,000 6 & 30,000
Osne=2 100,000 6 & 600
O3 700,000 x6& 4,200
206 M = Hl 2,000 2,000
01 X2 Hl 2,000 2,000
OJ|Et &Hl &3 2,000,000 =14l 2,000
405 XH&HF S HI 38,184 38,184
01 JHMY 2= EF S HI 38,184 38,184
O2l1A3a 10,000,000 =2CH 20,000
O=AD] 7,000,000 «1CH 7,000
OPC 1,300, 000 =3CH 3,900
OTV 1,150,000 ~1CH 1,150
OHED 700,000 =1CH 700
O = At 340,000 x3JH 1,020
O Xt 300, 000& *34 900
OE X (3loe) 330, 000 =14 330
Oo X (sleE) 100, 000& =4 JH 400
OS2 M AMIED] 1,200,000 = 1CH 1,200
O 264,000 64 1,584
A2 S 2AEAIY ,986, 120 3,520, 466,038
HSAE 22| AS 3,986, 120 3,520,082 466,038
309 8=2 3,846,270 3,471,582 374,688
01 Z2Al- 2HINMNEEZ 3,846,270 3,471,582 374,688
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2,162,386,000 « 1Al 2,162,386
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1,683,884,000& x14! 1,683,884
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01 Z2AF- 2282 139,850 48,500 91,350
ONE22 29 gAY Hl 89,800,000 14 89,800
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